EARAROBEEIERT — 2 N— IBISH —F

2017597188 (B) 4EIFI5H

m"fﬁ%Sﬁi 500ATF U[UET] & ‘ [X] % ‘ [REmE] - | 4 (&) 12000 £
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
FlBEX 1. - . . BERE (EH
i lglis| FavTrxa—n o4 s 1(1_1)1 7-5 36.3| 94.4 | 3 (43; e
LY IRG4 752 B:a—7I8 KT et 1 T77—L4
o A 1. - . . FHEE (ER
L7 Ry T 4 4 152.0 1(7111:; 4-2 37.1] 940 | 5 (4_5‘;4) B
x>y ¥/¥tx B:I—-E-—HI—h TREBS
g . . IS
N=HRTIEA L 3 | JLHES (17;171;) 10-7 | 36.1| 945 | 4 (5_020) gfg_ (ER)
ST INATA—H— BA—IEZALNZ B TADAS
=0 LEEAH . - W= (EH)
F %% [B) it 4 peal (12.111/.25) 10-7 36.5| 90.7 | 2 (4:3‘3 e
R:TIRATTaIN Bk /%2 Hh FRBE%S
N o4 | SHE 1:11.9 13-13 [ 36.6| 87.1 | 6 448 | NE—H (EiH)
A7xI—> 57.0 2 1/2) (g |ErESLTST
Lix4vaf—-5— B:ut—2-TL37 fisibie]
TN 4 4 | RERKA 1:12.2 14-14 | 36.6 | 84.3 | 12 | 502 |HMESB (Z#)
67|13 373522 [B] 57.0 @ -8) lt(E) HEL—ZA—X
X THANAIN B ZXT42H— HET77—L
YT N ETEAS 12, - . . ERENE (ER)
7lglis PRV EFTY o4 | B 77 S R el el B DA *=44
x4 n BT7ITY BEH #F
. 0. o £ 5 | ASFEZ 1:12.4 15-14 | 36.6 | 82.5 | 11 504 | EEFEZ (M)
glila|#>7is1 [B] 70 & /) o) | ) mERF-Tu
L:7v3I7—-L B:IAFH- SH
_ . > HLLTER 112, - . . BAEX (ER
9 4| FRANTLA > 4 Azs 1 (112) 6 1-1 38.9| 81.8 | 14 (4;2) EJEE%U;&
RivayFrhrs BRXv—F4aAV—> BHAXZY K
S s o4 | EEAHIE 1:12.6 12-9 37.5| 80.4 | 8 460 | PEFRE (FH)
100111~ N ZN— b 57.0 (56 © AT
LT TANIVR B:aFIb:—F =l =
N s FiR—1 :13. - . . KFERB— (i@
11510 P>/ 72N F o3| B (13113/2% 16-16 | 37.2| 75.0 | 15 (fﬁ) i
L:xrin10— B:EEY RKN-=F milll BERl
. - N AL TN : - REREEZ ((#)
s MIEEEL VRS o4 Ll 1(/1\3)2 8-9 38.3|75.3 | 7 (438) méﬁ%
L:rALh—L B:FI/STIR—I e
3 | AFHEIR 1:13.3 5-5 38.8| 75.2 | 10 | 454 |EBIMA (i)
T : ESS2IPE 55.0 (1/2) (p) | EFEREAER
R:TFaT 48 B4 Iz Ty BRI
= . 4t 3 | BERLT 1:13.4 2-2 39.6| 75.8 | 9 454 | EFAIE ()
141714 Xy IAXINTLF A50.0 (2 €) (c4) | W) Juw>Fr—HFTLy KR
L:24%Y v ML B:TLCFIRT— MH RE
[N s = LR :13. -~ . . RIEEZ (E@)
1515/ 9| SN TH LT i o4 b 1713t;1 8-12 38.5| 73.7 | 13 (4_620) s
LiZYr T b=y —K—F B:44%Y R ISHISHT 77— LI
o p— — RE®IZ : — PN (E#)
16 5| EVZv 5T it 3 = (17.1{5% 5-9 41.3]58.2 | 16 <4+228) UeE3ss
R:FLIARZ N BYLF-EIZy Y HET7— L
@ 71 L
) 48.7-37.4
NA>Z4 L | 11.9-10.5-11.3-12.2-12.3-12.9
@ 11— S —EBlIEfL
1T=7r=
230—7F—
Gol=5r= 4(14,16)7-(5,6)15(9,11) (3,8)1,12-13,2,10
40—+ — 4(14,16,7)-(6,15) (3,8)-(5,11,1)9,12(2,13)-10
[ N3
B O 15 670M 714K 7-15 1,120H 7 E 4-8 480M RPEL:] 7-8-15 8,020
8 B 15 200M 8-15 1,280M B = 7-15 3,010M B 15-7-8 47,310
7 250M 7-8 1,090M B H 15-7 6,150/
8 300F9

ABICOVWTRDTEEERROODE. TR LIV,




